Lighthouse

Wally Sosa 2001

Materials:

2 Shuttles

Cotton Perle #12 White and Black
One Yellow E-bead

Abbreviations:

R = Ring

Ch = Chain

Cl = Close

RW = Reverse Work

DRW = Don’t Reverse Work
SR = Split Ring

SLT = Shoe Lace Trick

— = Picot

—- = Long Picot

Instructions:

Body: Fill one shuttle with White and using the black from the
ball.

R: 3-3-3-3 CI, RW
Ch: 4 SLT, DRW
R: 4-4-4-4 Cl, RW
Ch: 6 SLT, DRW
R: 4+4-4-4 Cl, RW
Ch: 8 SLT, DRW
R: 5+5-5-5 CI, RW
Ch: 10 SLT, DRW
R: 5+5-5-5 CI, RW
Ch: 10 SLT, DRW
R: 6+6-6-6 Cl, RW
Ch:10 SLT, DRW
R: 6+6-6-6 Cl, RW
Ch: 12 SLT, DRW
R: 7+7-7-7 Cl, RW
Ch: 12 SLT, DRW
R: 7+7-7-7 Cl, RW
Ch: 12 SLT, DRW
R: 8+8-8-8 CI. Tie and Cut.

With White shuttle and White ball

Join to last picot of 8’s ring.

Ch: 2-2-2-2-2, join to 2nd picot in 8’s ring.
Ch: 2-2-2-2-2-2, join to next picot



Ch: 2-2-2-2-2, join to next picot

Ch: 2-2-2-2, join to next picot

Ch: 2-2-2, join to next picot

Ch: 2-2-2, join to last picot in the same ring.
Ch: 2-2-2-2-2-2, join to last picot of next ring
Ch: 2-2-2, join to next picot in same ring

Ch: 2-2-2, join to next picot

Ch: 2-2-2-2, join to next picot

Ch: 2-2-2-2-2, join to next picot

Ch: 2-2-2-2-2-2, join to next picot

Ch: 2-2-2-2-2, join to last picot same ring
Ch: 2-2-2-2-2-2-2-2-2-2-2, join to first picot. Tie and Cut.

Base: With 2 shuttles filled with Black

R: 2-2-2-2-2-2-2-2 CI.

SR: 2-2 (join to 1st picot of 4-picot chain) 2-2 / 2-2-2-2 CI.

SR: 2-2 (join to 1st picot of 10-picot chain) 2-2 / 2-2-2-2 ClI.
SR: 2-2 (join to 4th picot of 10-picot chain) 2-2 / 2-2-2-2 CI.
SR: 2-2 (join to 7th picot of 10-picot chain) 2-2 / 2-2-2-2 CI.
SR: 2-2 (join to last picot of 10-picot chain) 2-2 / 2-2-2-2 CI.
SR: 2-2 (join to 1st picot of 4-picot chain) 2-2 / 2-2-2-2 Cl. RW
Ch: 3-2-2-2-2-2-2-2, join to middle picot

Ch: 2-2-2-2, join to middle picot. Repeat unitl you arrive to the
last Ring.

After joining to the middle picot make Ch: 2-2-2-2-2-2-2-3, skip
one picot, join to the next picot. Tie and Cut.

Top Base: With 2 shuttles filled with Black

R: 2-2-2-2-2-2-2-2, Cl.

SR: 2-2-2-2 / 2-2 (join to last picot of 2-picot chain) 2-2 CI.
SR: 2-2-2-2 / 2-2 (join to 3rd picot of 5-picot chain) 2-2 CI.
SR: 2-2-2-2 / 2-2 (join to 1st picot of 2-picot chain) 2-2 ClI.
R: 2-2-2-2-2-2-2-2 CI. Tie and Cut.

Top: With White shuttle and ball.

R: 3-3 — 3-3 CI, RW

Ch: 3-2-2-2-2-3

R: 3+3 (join to the Long Picot) 3-3, Cl, RW

Ch: 3, join to the3rd picot of Top Base’s 2nd SR, 2-2, join to the
middle picot of the Top Base’s 3rd SR, 2-2, join to the 1st picot of
the Top Base’s 4th SR, 3, RW

Insert bead to the Long Picot.

R: 3+3, join to the Long Picot (the bead is going to be in the
middle of the Long Picot), 3-3, Cl, RW

Ch: 3-2-2-2-2-3, RW

R: 3+3, join to Long Picot, 3, join to picot of 1st Ring, 3. Cl, RW
Ch: 3-2-2-2-2-3. Join to Base of 1st Ring. Tie and Cut.



